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(i! µ!µ "m)"(
!x, t) = 0

E = ± !p2 +m2

•  The	
  Dirac	
  equa6on	
  	
  (1927)	
  

•  Anderson	
  discovers	
  positron	
  	
  (1931)	
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The	
  Big	
  Bang	
  
The	
  amount	
  of	
  ma5er	
  
equals	
  the	
  amount	
  of	
  
an6ma5er.	
  

Our	
  Universe	
  	
  
Ma5er	
  dominates	
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universe	
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Cabbibo-­‐Kobayashi-­‐Maskawa	
  
matrix	
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e!"|#t|(1+ sin(2!)sin(#m#t))

e!"|#t|(1! sin(2!)sin(#m#t))

Decay	
  rates	
  are	
  propor6onal	
  to:	
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NB ! NB

NB + NB
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Asymmetry(t)	
  



= +Pdf (m, t | tag,mistag) Signal(m, t | tag,mistag)

!}Bkg(m, t)

}

Resolution(t)
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B	
  and	
  an6-­‐B	
  mesons	
  do	
  behave	
  differently!	
  	
  



sin(2!) = 0.75± 0.35

sin(2!)WorldAvr = 0.673± 0.023World	
  average:	
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•  Based	
  on	
  the	
  data	
  taken	
  during	
  the	
  last	
  year	
  

•  Not	
  the	
  main	
  measurement	
  what	
  LHCb	
  was	
  built	
  for	
  

•  Crucial	
  benchmark	
  for	
  LHCb	
  before	
  more	
  difficult	
  
measurements	
  

•  Confirma6on	
  of	
  the	
  previous	
  results	
  (BaBar&Belle)	
  

•  Impact	
  on	
  world	
  average	
  expected	
  next	
  year.	
  

My	
  result:	
  


